10 times table

Count in 10s, color, and find a pattern.
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Write the answers.
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Each box contains 10 crayons. How many crayons are there altogether?

. . 2 |setsof 10 | 2 |x[1O|=|20] crayons
My QIR MR, e

sets of 10 X = crayons
OTAYTR, AT, X
)= o
EENE o o B
AN, AR, A ) amy
) co [ 1 e

MR, AT ) sets O = crayons
o e
© Dorling Kindersley Limited [2010] E!SCHOULS



10 times table

Count in 10s, color, and find a pattern.
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Write the answers.
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Each box contains 10 crayons. How many crayons are there altogether?
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